dy
E le: —= =
xample . f(z)

We'll solve our first, very simple, example using the method of separation of
variables. We start by multiplying both sides by dz:

Then integrate both sides:

/dy:/f(:z:)d:c

The antiderivative of dy is just y, so we get:

y = /f(w)dw,

as we did before.



MIT OpenCourseWare
http://ocw.mit.edu

18.01SC Single Variable Calculus[]
Fall 2010 O

For information about citing these materials or our Terms of Use, visit: http://ocw.mit.edu/terms.



http://ocw.mit.edu
http://ocw.mit.edu/terms

